D1vISION WITH A REMAINDER II (H - SET 3)

DIVISION WITH 1 TO 10 oo
61) 35178 =7 = ) 13894 = 2 =
2 13018 = 5 = m 11104 =7 =
63) 34343 — & = ) 12758 + 2 =
61) 3795 = 4 = ) 24237 + 3 =
65) 13884 + 7 = 0 60354 + 10 =
66) 10035 = 5 = s 16922 + 3 =
6 701 = 2 = 820 96010 + 10 =
65) 8732+ 1= 3 2595+ 3 =
69 5580 = 9 = s 21494 + 9 =
0 1117 =7 = ) 5214 =1 =
) 12769 = 7 = 6 35637 =4 =
72 42003 =~ 9 = 7). 23286 + 10 =
) 62052 = 9 = s8) 14438 =7 =
™ 15368 = 3 = ) 9615+ 1 =
) 41073 + 5 = 0 1156 +1=

Mathematics: Division - Level 8 - Horizontal - Set 3
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